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3HUDQFDQJDQ�.RQVHS�DUW� LQL�PHUXSDNDQ�EDJLDQ�GDUL� WXMXDQ�XWDPD�SHQXOLV�\DLWX�LQJLQ�

PHQ\DPSDLNDQ� NHPEDOL� SHVDQ� VHMDUDK� GDUL� SHULVWLZD� %DQGXQJ� /DXWDQ� $SL�� 'LGDODP�

SHUDQFDQJDQ�LQL��SHQXOLV�PHUDQJNXP�GLGDODPQ\D�EDJLDQ�EDJLDQ�VHSHUWL�SHUDQFDQJDQ�.DUDNWHU��

(QYLURQWPHQW� GDQ� MXJD� SURSHUW\� \DQJ� GLJXQDNDQ� GL� NDUDNWHU� PDXSXQ� EDFNJURXQG�� 3URVHV�

SHUDQFDQJDQ�VHQGLUL��SHQXOLV�PHQGDSDWNDQ�GDWD�GDWD�\DQJ�GLEXWXKNDQ�PHODOXL�SURVHV�SURVHV�

SHQHOLWLDQ� VHSHUWL� PHODNXNDQ� NXLVLRQHU�� PHODNXNDQ� SHQFDULDQ� GRNXPHQ�GRNXPHQ� YLVXDO�

WHUKDGDS�SHULVWLZD�EDQGXQJ�ODXWDQ�DSL��GDQ�MXJD�PHODNXNDQ�ZDZDQFDUD��6HWHODK�VHOXUXK�GDWD�

\DQJ�GLEXWXKNDQ�WHUNXPSXO��PDND�SHQXOLV�PXODL�PHODNXNDQ�SHUDQFDQJDQ�XQWXN�PHQGXNXQJ�

SHUDQFDQJDQ�GDULSDGD�SURGXN�WHUDNKLU�$QLPDVL��'��'HQJDQ�SHPEXDWDQ�'HVDLQ�.DUDNWHU�GDQ�

OD\RXW�\DQJ�PHQMDGL�SULRULWDV�SHQXOLV�GLGDODP�SHUDQFDQJDQQ\D���+DVLO�DNKLU�\DQJ�GLGDSDWNDQ�

SHQXOLV� GDUL� SHUDQFDQJDQ� \DQJ� WHODK� GLODNXNDQ� ROHK� SHQXOLV� DGDODK� VDODK� VDWXQ\D� GHVDLQ�

NDUDNWHU��/D\RXW��'HVDLQ�SURSHUWL�NDUDNWHU��GHVDLQ�HQYLURQWPHQW�GDQ�MXJD�EDFNJURXQG��


